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s=s 2,777,801 2,644,812 132,989
ESS YUAY 620,474 603,974 16,500
As BIYR el 500,474 483,974 16,500
HOYE FZ Y AS A 2 72,600 66,000 6,600
201 Yot Fh| 67,800 61,200 6,600
01 Ak 22l 67,800 61,200 6,600
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6,60021 *1,0007H 6,600 0 6,600
A Y BE- 2T AL AL 107,976 101,676 6,300
201 YEr2 | 79,476 73,176 6,300
02 2Bl 75,576 69,276 6,300
02222 % MA 70,176 63,876 6,300
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HEAMZAl ZOSSNALE 29 119,488 115,888 3,600
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omEIIL 1,700,000 * 122 20,400 24,000 £3,600
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OUWEEZA o 40 HAH &X
3,000, 0002 3,000 0 3,000
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E22 FUSAANY 515,000 415,000 100,000
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OS50t2 == &HI(L=130m)  20,000,000& 20,000 0 20,000

MEOIAAY =& 250,000 200,000 50,000

401 A& HIZ 2018 250,000 200,000 50,000

01 A& Hl 250,000 200,000 50,000

Od&UAHAE 50,000,000& 50,000 0 50,000

HH2LZH(E=S) 1,509,049 1,492,560 16,489
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101 @124 H] 81,650 64,391 17,259
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201 LEt2 A | 108, 121 107,071 1,050
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OHAIE JI(H=D1S) M 350,000& 35 1,050 0 1,050
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01 AL ESFH SH 7,650 7,070 580
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